é Subtraktion upp till 10 (horisontell)
) X hui

o Datum: Poiing:
2T 2o 1= 9-4= 10-3 =
§-2= 10-5= 9_7= 9 o _
7-6= 10-3= 9_5= 7
6—3= 4 -9 = 59— o_5_
10-1= 65— 7 oy
0T 473 §-5= 6—5=
9-3= §—1= 75— o_7_
5o1- 3-2= 10-6= 10-3=
4-3= 7-32 y <,
42 §-5= 10-9 = 61 =
7-5= 10-5= 7-3= o_3_
10-7= 3-1= 62 = s
10-2 = 10-3=
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Subtraktion upp till 10 (horisontell)

namn: Datum: Poéng;
9-2=7 2-1=1 9-4=5 10-3=7
8—2=6 10-5=5 9-7=2 9-2=7
7-6=1 10-3=7 9-5=4 8—7=1
6-3=3 4-2=2 5-2=3 9-5=4
10-1=9 6-5=1 8—7=1 6-2=4
6-5=1 4-3=1 8—5=3 6-5=1
9-3=6 §—1=7 7-5=2 9-7=2
§—1=7 3-2=1 10-6=4 10-3=7
4-3=1 7-3=4 2-1=1 5-2=3
4-2=2 §—5=3 10-9=1 6-1=5
7-5=2 10-5=5 7-3=4 9-3=6
10-7=3 3-1=2 6-2=4 5-1=4
10-2=38 10-3=7
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